MCOM-08

June — Examination 2024

M.Com. (Final) Examination

COST AND MANAGEMENT ACCOUNTING
Paper : MCOM-08

Time : 3 Hours | [ Maximum Marks : 80

Note .— The question paper is divided into three Sections

A, B and C. Write answers as per the given

instructions.
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Section—-A 8x2=16

(Very Short Answer Type Questions)
Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one

sentence or maximum up to 30 words. Each

question carries 2 marks.
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1. (1) Name any four methods of costing.
AR T i s aR ISiadl & A9 Fasy |

(ii)) What is meant by ABC analysis of material

control ?

Tt fEsor st ABC fagaisor Jie 9 o o9
7 ?

(i11)) What are bases of classification of overhead ?

U T RO fha oall W e e
T2

(iv) Define budget in cost accounting.
TN @R | oo ] YR sifsy |

(v) What is Contribution ?

39 7Y wed § ?
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(vi) What is meant by Angle of incidence ? 3. Explain ‘Escalation Clause’ in the context of

I HI0 § 1 OAWE § 2 contract costing.
(vii) Name the methods of trend analysis. S Nk e § qfg e’ Rl qHemEy
yafa fagemo &1 fafEt sl 4. Differentiate between ‘Absolute Tonne Km’s and
‘Commercial Tonne Km’s.
‘i = feradiel’ wa ‘afoifses =7 farate’ #
BRI s e

5. Discuss the justification of Inter process profit.

(viii)) What does an operating ratio indicate ?
IR S 9 Gehd ol § 2
Section-B 4x8=32

(Short Answer Type Questions)

AR Tl o & e &t fag=m wifsu |

Note .— Answer any four questions. Each answer should not 6. Why common size statements are prepared ?
exceed 200 words. Each question carries 8 marks. Explain briefly the technique of preparing

T ue—d common size balance sheet.
(w1 T T IIAHR faawor #3599 W § 72 gEeR feea

" . ?Fﬂ’:f . .
fder - el AR UTH @ S ARTT ST ST I & =1 fafa =1 9899 ¥ 9usmEu)

SAfeerad 200 IS § GRS FRTT TOE T 7. Write short notes on the following :
8 3T T T (@) Return on Investment

2. What do you mean by Cost Pool ? Explain with (b) Zero base budgeting

the help of a simple example. frefafed W sy fewforr fofen :
AN TE § STYH F A ¥ 7 UH WA I (21) faf=Emi w g™
1 eI § T | (9) I SER a5
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8. Explain from the following data, how the Qs —d

reduction in selling price would effect BEP and (@t s uve)

margin of safety ? e :- fondl 2 wodl & S U o oTTR W A stfueRan
freifea sihel @ T Hifww o goa § w6 500 vrssi § uREifEg wIST | Tk YR 16 31F T
o1 gA-faseg foag (BEP) qem §R&m HiH W &1 99 10. What is Labour Turnover ? Illustrate the various
T ? methods of its measurement.

97 Tt =1 § ? T "o &l fafy= fafeed e
IS0 Ifed o0 Hifea |

11. Distinguish between the following :

Selling price ¥ 20; Variable cost per unit T 12; Fixed
cost T 8,000; Present sales 5,000 units; Reduced

selling price per unit ¥ 16.
(@) Cost and Costing

(b) Bin Card and Stores Ledger

9. How does Cash Flow Statement differ from the

Fund Flow Statement ?

AFHe arg faaxor, &Y yaE oo § g g&R 9=

(¢) Remuneration and Incentive Wages

(d) Production Cost and Product Cost of goods

&7 sold
Section—C 2x16=32 frfafed & s T ST .
(Long Answer Type Questions) (37) AN 9 AN Jd H ki UiwA
Note — Answer any two questions. You have to delimit (@) fom € qen Wl @ @
your each answer maximum up to 500 words. (7)) wRefHw Ta SomHs Aegd
Each question carries 16 marks. (T) 3UEA S a91 o9 T4 HIel i IcqIGA arTd
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12. Calculate material cost variance, Material price 14. Give a specimen of cash flow statement by indirect

variance, Material usage variance and Material method using imaginary figures.

yield variance from the following data : sTocger fafy ¥ woute TR B TR R UHS YR
frfafea wa®l § 9t arm foero, it 9o foaor w1 A |

forercor, |t SwEm fa=ror qur @R SaeA fa=r

w1 e HIfSg

Standards : 100 kg material for 70 kg. Finished
product @ % 2 per kg.

Actuals : Output 21,000 kg; Material used 28,000
kg, Cost of material ¥ 50,400.

13. “Ratios are the symptoms like blood pressure, the
pulse or the temperature of an individual.” Explain
the statement and give the fundamental ratios and

their uses.

“oua foeel =Aafk & WA, A€ SAYE A9HH 6
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STUTAl qAT ITh SUART 1 AU TR |
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